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CORRIGE NAO_A1_DR1 
Q1   

 

Q2   

 
 
 

 
𝛺𝑚(𝑝) =

1

𝐽𝑝
. (𝐶𝑚(𝑝) − 𝑓. 𝛺𝑚(𝑝)) =

𝐶𝑚(𝑝)

𝐽𝑝
−

𝑓

𝐽𝑝
. 𝛺𝑚(𝑝) 

𝛺𝑚(𝑝). (1 +
𝑓

𝐽𝑝
) =

𝐶𝑚(𝑝)

𝐽𝑝
 

𝛺𝑚(𝑝). (𝐽𝑝 + 𝑓) = 𝐶𝑚(𝑝) 

𝛺𝑚(𝑝)

𝐶𝑚(𝑝)

=
1

(𝐽𝑝 + 𝑓)
 

 

Q3  
𝛺𝑚(𝑝) =

1

𝐽𝑝 + 𝑓
. 𝐶𝑚(𝑝) =

1

𝐽𝑝 + 𝑓
. 𝑘𝑐 .

1

𝑅 + 𝑝𝐿
. (𝑈𝑚(𝑝) − 𝐸(𝑝)) =

𝑘𝑐

(𝐽𝑝 + 𝑓). (𝑅 + 𝑝𝐿)
. (𝑈𝑚(𝑝) − 𝑘𝑒 . Ω𝑚(𝑝)) 

 

𝛺𝑚(𝑝). (1 +
𝑘𝑐. 𝑘𝑒

(𝐽𝑝 + 𝑓). (𝑅 + 𝑝𝐿)
) =

𝑘𝑐

(𝐽𝑝 + 𝑓). (𝑅 + 𝑝𝐿)
. 𝑈𝑚(𝑝) 

 

𝛺𝑚(𝑝). ((𝐽𝑝 + 𝑓). (𝑅 + 𝑝𝐿) + 𝑘𝑐. 𝑘𝑒) = 𝑘𝑐 . 𝑈𝑚(𝑝) 

𝐻𝑚(𝑝) =
𝛺𝑚(𝑝)

𝑈𝑚(𝑝)

=
𝑘𝑐

(𝐽𝑝 + 𝑓). (𝑅 + 𝑝𝐿) + 𝑘𝑐. 𝑘𝑒

 

𝐻𝑚(𝑝) =
𝑘𝑐

𝑅𝑓 + 𝑅𝐽𝑝 + 𝐿𝑓𝑝 + 𝐿𝑗𝑝2 + 𝑘𝑐. 𝑘𝑒

=
𝑘𝑐

(𝑅𝑓 + 𝑘𝑐. 𝑘𝑒) + (𝑅𝐽 + 𝐿𝑓)𝑝 + 𝐿𝐽𝑝2
 

𝐻𝑚(𝑝) =

𝑘𝑐

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒

1 +
𝑅𝐽 + 𝐿𝑓

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒
𝑝 +

𝐿𝐽

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒
𝑝2

 

Q4  𝜏𝑚. 𝜏𝑒 =
𝑅.𝐽

𝑘𝑒.𝑘𝑡+𝑅.𝑓
.

𝐿

𝑅
=

𝐿𝐽

𝑅𝑓+𝑘𝑐.𝑘𝑒
  𝑅𝐽 + 𝐿𝑓

𝑅𝑓 + 𝑘𝑐 . 𝑘𝑒

=
𝑅𝐽

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒

+
𝐿𝑓

𝑅𝑓 + 𝑘𝑐 . 𝑘𝑒

= 𝜏𝑚 + 𝛼. 𝜏𝑒 

avec 𝛼 =
𝑅𝑓

𝑅𝑓+𝑘𝑐.𝑘𝑒
 

  

— 

+ 
— 

+ 

1

𝑅 + 𝑝𝐿
 

1

𝐽. 𝑝
 

𝑘𝑒  

𝑘𝑐  
𝑈𝑚(𝑝) 

𝐸(𝑝) 

𝐼(𝑝) 𝐶𝑚(𝑝) Ω𝑚(𝑝) 

𝑓 

— 
+ 

1

𝑅 + 𝑝𝐿
 

1

𝑓 + 𝐽𝑝
 

𝑘𝑒 

𝑘𝑐  
𝑈𝑚(𝑝) 

𝐸(𝑝) 

𝐼(𝑝) 𝐶𝑚(𝑝) Ω𝑚(𝑝) 
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Q5  𝑘𝑒 = 2,1𝑉 pour 1000 rpm 

𝑘𝑒 =
2,1 60

1000.2.𝜋
= 20,05. 10−3 𝑉. 𝑠/𝑟𝑎𝑑  

 𝑘𝑐 = 20,1 𝑚𝑁𝑚/𝐴  
𝑘𝑐 = 20,1. 10−3 𝑁𝑚/𝐴  

𝑘𝑐 = 𝑘𝑒 à 0,25 % près 

Q6  𝐽 = 𝐽𝑟𝑜𝑡𝑜𝑟 +
𝐽𝑚𝑎𝑖𝑛

𝑟2 = 0,76. 10−7 +
7,055.10−5

50,612 = 1,035 10−7 𝑘𝑔. 𝑚2     𝐽 = 1,035 10−7 𝑘𝑔. 𝑚2 

Q7  𝜏𝑚 =
𝑅.𝐽

𝑘𝑒.𝑘𝑡+𝑅.𝑓
=

38,4.1,035 10−7

20,12.10−6+38,4.6.10−6 = 6,26 𝑚𝑠       𝜏𝑒 =
𝐿

𝑅
=

0,9.10−3

38,4
= 0,023 𝑚𝑠 

 
𝜏𝑒 ≪ 𝜏𝑚  alors 𝑝. 𝐿 négligeable devant 𝑅 

Q8  

 
Q9  

𝐻𝑚(𝑝) =

𝑘𝑐

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒

1 +
𝑅𝐽 + 𝐿𝑓

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒
𝑝 +

𝐿𝐽

𝑅𝑓 + 𝑘𝑐. 𝑘𝑒
𝑝2

=

𝑘

𝑅𝑓 + 𝑘2

1 + 𝜏𝑚𝑝
=

𝐻𝑚𝑜

1 + 𝜏𝑚𝑝
 

Q10   
 

 

Q11  𝜃𝑠(𝑝) =
1

𝑟
. 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾. 𝑟. (𝜃𝑒(𝑝) − 𝜃𝑠(𝑝)) = 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾. 𝜃𝑒(𝑝) − 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾. 𝜃𝑠(𝑝) 

𝜃𝑠(𝑝). (1 + 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾) = 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾. 𝜃𝑒(𝑝) 
𝜃𝑠(𝑝). (1 + 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾) = 𝐻𝑚(𝑝). 𝑘ℎ. 𝐾. 𝜃𝑒(𝑝) 

𝐻𝐵𝐹(𝑝) =

𝐻𝑚𝑜

1 + 𝜏𝑚𝑝
. 𝑘ℎ. 𝐾

1 +
𝐻𝑚𝑜

1 + 𝜏𝑚𝑝
. 𝑘ℎ . 𝐾

=
𝐻𝑚𝑜 . 𝑘ℎ . 𝐾

(1 + 𝜏𝑚𝑝) + 𝐻𝑚𝑜 . 𝑘ℎ. 𝐾
=

𝐻𝑚𝑜 . 𝑘ℎ. 𝐾

(1 + 𝐻𝑚𝑜. 𝑘ℎ . 𝐾) + 𝜏𝑚𝑝
=

𝐻𝑚𝑜 . 𝑘ℎ . 𝐾

1 + 𝐻𝑚𝑜. 𝑘ℎ. 𝐾

1 +
𝜏𝑚

1 + 𝐻𝑚𝑜 . 𝑘ℎ . 𝐾
. 𝑝

 

𝐻𝐵𝐹(𝑝) =
𝐻𝐵𝐹𝑜

1+
𝜏𝑚

1+𝐻𝑚𝑜 .𝑘ℎ.𝐾
.𝑝

    avec     𝐻𝐵𝐹𝑜 =
𝐻𝑚𝑜 .𝑘ℎ.𝐾

1+𝐻𝑚𝑜 .𝑘ℎ.𝐾
 

Q12  

𝐻𝐵𝐹(𝑝) =

𝐻𝑚𝑜.𝑘ℎ.𝐾

1+𝐻𝑚𝑜.𝑘ℎ.𝐾

1+
𝜏𝑚

1+𝐻𝑚𝑜 .𝑘ℎ.𝐾
.𝑝

       avec 𝐻𝑚𝑜 =
𝑘

𝑅𝑓+𝑘2 =
20,1.10−3

38,4.6.10−6+(20,1.10−3)2
= 31,68 𝑟𝑎𝑑/𝑉𝑠 

𝐻𝐵𝐹(𝑝) =

31,68 . 10,31. 10

1 + 31,68 . 10,31. 10

1 +
6,26. 10−3

1 + 31,68 . 10,31. 10
. 𝑝

=
1

1 + 1,9. 10−6𝑝
 

 

— 
+ 

1

𝑅
 

1

𝑓 + 𝐽𝑝
 

𝑘𝑒  

𝑘𝑐  
𝑈𝑚(𝑝) 

𝐸(𝑝) 

𝐼(𝑝) 𝐶𝑚(𝑝) Ω𝑚(𝑝) 

- 

— 
+ 

𝐾. 𝑟 𝐻𝑚(𝑝) 𝑘ℎ  
𝜃𝑒(𝑝) 

𝜃𝑠(𝑝) 

𝑈𝑚(𝑝) 𝜃𝑚(𝑝) 

 
𝜃𝑠(𝑝) 
 

1/𝑟 


